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I.  ’a mwn: variation on 2"nYWRR (brother #3 is born after brother #2 acts but before he dies)
a. Brother 1: marries wife #1 and brother #2 marries wife #2
b.  Then: brother #1 dies
c.  Option A: brother #2 performs D1a» on wife #1
i. Then: brother #3 is born
ii. Then: brother #2 dies
iii. Subsequently: wife #1 is released as 1%wa >0 RYY YNR NWR, wife #2 is released as NN
d. w”r disagrees — he may perform ma» or n¥’9n
i. NN 7 v disagreed about 'R nwn as well (D2 751 ,nn)
1. arqument: our case is superfluous according to 1117; must be taught to
highlight polarity of positions (v"1 allows even if na» 151 nn, 1321 disallow
even if 799 D1» nn)
2. fallout: how does 2"nYWRR play out for v"?
a. Answer #1 —1 brother, he dies and then only brother is born
b. Answer #2 -2 brothers coexist, #1 dies, #2 does nothing, then #3 is born
3. reasoning: W™ maintains N1 v’ and np’r:imarriage
a. therefore: once wife #1 falls to brother #2, she is considered his wife vis-a-vis
brother #3 (who coexisted with #2, but not #1)
b.  reasoning of 1237 NN — NN NWRY 1Y ANPY: first B12» continues beyond pmp’
4.  challenge #1: in case where #1 died, #2 did 9xn and then died, w™ requires “taking
care” of both wives
a. inference: npr+1nR8n do not constitute a clear-cut relationship
b.  challenge: how can np’r alone constitute a clear-cut relationship?
c.  Defense: ™ only maintains np>1:non3 with 1 02> (here there are 2)
5. challenge #2: 2 sisters who fall from 2 brothers — v exempts them
a. challenge: if ™ maintains np>1::10N3, 1+t one to fall should get ma», 2nd n70a
b. defense: they fell simultaneously (nxnxy 7war)
ii. A99 77 w™ only disagreed about 'a nwn (1511 D27 nn)
1. Supporting yn»»13; distinction between na» 791 nn (704a) and 751 D12» NN (N27N)
e.  Option B: brother #2 performs anRn on wife #1 and doesn’t consummate
i. Then: brother #3 is born
ii. Then: brother #2 dies
iii. Subsequently: wife #1 must perform n¥'9n with brother #3 but may not perform ma»
II. Dispute between n’nan/ 11 about 1mxn
a. a7 is valid if done nn73 Ypa — derived from ma»
b. 057 must be done nnyTn — derived from “normal” pwiTp
III. Reassessing position of 1327 — R NWRY 1 INPYY (MHY NVRIN P P1TY)
a.  Challenge: why allow her to be divorced from n2, should need n¥9)n?
Answer: DORY 19 MMpN
Challenge: our case, as well, she should be a “new wife” (supporting v™)
Answer: ppan
Question: rationale for different application?
i. Apply 9577 (normal wife): to case of full-ymn (regular o1a»)
ii. Apply 17078 (consider her still connected to 1 husband): to case of MNOR (23"NYVRR)
f.  Challenge to ”7: if a man’s paternal brother is married to his maternal sister, then another
paternal brother was born and the man died, since the newborn entered a world where the
wife was already liable for 12», he should na»n?
g. Answer: IMNR MR has nowhere to “go”, unlike YnR nWR MR which lifted by n%a
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